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Knowledge outsourcing for Multiple
Buyers

- IDEO works with several hundreds different firms in over 40 industries.
- IDEO works on 60 to 80 products at a time.
By Hargadon & Sutton (1997, ASQ)
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*Source: IDEO webpage




Market for technology

Arora & Fosfuri (2003), Erat et al. (2013)

Market for information

lyer & Soberman (2000), Arora & Fosfuri (2005)

Knowledge Intensive Business Services (KIBS)

Miles et al. (1995), Consoli & Elche-Hortelano (2010),
Probert et al. (2013), Hargadon & Sutton (1997), HBR
(1999)



Under what conditions does a buyer pursue

knowledge outsourcing from the supplier?

How does knowledge outsourcing impact buyers’

competition strategies in the downstream market?

Under what conditions does the supplier want to

serve both buyers versus one buyer?



Knowledge Outsourcing with Competition

= Sequence of decisions

Downstream Market
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(Buyers move simultaneously.)

= Buyers are Symmetric, supplier charges Common price.




Downstream market competition
Uy=R+Dy+ Sy, —py4 — Ox,
Ug =R+ Dg + ¢Sy —pg — 0(1 — x).
Sales: g4 = x*,qg =1 —x*, where x* = arg{U,(x) = Ug(x)}.

Buyers’ problem

Max, 7% = q;p; — D} — wS; — g5,

where p; = arg M%c 7% and i € {4, B}.
pi

Supplier’s problem

Max ITA% = w(S, + Sg) — ¢, (S4 + Sp)2.

w>0



When the supplier serves buyer A in monopoly,

If the cost of internal knowledge development (c) is lower than

the threshold (% <c<éecy), T |

buyer A does not outsource [ 1,
70}
knowledge from the supplier. :

Otherwise (¢ < ¢), _
60}
buyer A outsources,

g
496—-¢?%

where ¢y =

I1,: Buyer A's profit without outsourcing 40!

L . 0.275 0.280 0.285
14 Buyer A’s profit with outsourcing ’ ’



When the supplier serves only buyer A in duopoly,

[) If the cost of internal knowledge development (c) is lower

than the threshold (% < ¢ < ¢p), buyer A does not outsource
knowledge from the supplier. Otherwise (cp < c), buyer A

cst+2g

outsources, where ¢p = (et 29)0—92
) _

. (note ¢y = —2—)

ii) Further, cp < cy. If ¢p < ¢ < €y, Buyer A outsources

knowledge from the supplier only if there is a competitor.



Impact of knowledge outsourcing on buyers’ competition

strategies:

If the supplier serves only buyer A in duopoly,

Buyer A always charges higher price than buyer B in the

downstream market.

Buyer A pursues premium price strategy by increasing the
amount of knowledge delivered to the market as competition

Increases.

Buyer B pursues low price strategy by reducing the amount of

in-house knowledge development as competition increases.



Participation of both buyers A and B

Buyer B
Outsourcing?
Yes No
Yes (T3, 1Mg") (I3, %)
Buyer A
No (H,f’ Hg) (HAinB)

Nash Equilibrium

If ¢, < c, both buyers A and B outsource (1158 > 112, 148 > 114).

1 _
If% < ¢ < €p, no one outsources (I, > M4, g > I15).



Duopoly - Both Buyers A & B Served (cont.)

Serving Two buyers versus One buyer:

= i) If a buyer’s KD cost (c) is 0.0080 :

| _ 00075}
lower than the threshold (E < ¢ < Cg),

D_DD?DE—
the supplier serves only one buyer . Dmﬁﬁf
Otherwise (¢s < c), the supplier  ocol
: Two b
serves both buyers A and B, ) 0055t o DHYErS
G — [}_[}[}5[}5—
where cg 59007 : ‘.

= ll) Further, Z‘D < Es. | ED <c< Es,
even if both buyers pursue knowledge outsourcing,

the supplier serves only one buyer.




Summary of Analysis

12————

. Supplier serves
monopolist.

. Supplier serves both
buyers in duopoly.

. Both buyers in duopoly
pursue outsourcing but
supplier serves only one
buyer.

No outsourcing




|dentify the threshold below which the supplier provides
exclusive service for one buyer rather than serving two

buyers.

Show how the competition structure (monopoly versus

duopoly) impacts a buyer’'s knowledge outsourcing.

Show how knowledge outsourcing impacts buyers’

competition strategies in the downstream market.



Thank you!



